
Systematic Error

1

1.Try to set up the frame for systematic error study with the old tree 
2.Varied some analysis cuts to calculate systematic error:

each time vary one cut and go through all steps, compare the results.

For example, varying chi2topo gives 3 results (default,var1,var2)
Set systematic error = (Max-Min)/2 

statistic error = default
central value = default  

linearly add errors from the same table, square add errors from different table

Analysis Cuts Default Var1 Var2

Chi2topo <=2 <=3 <=1

Chi2ndf <=5 <=6 <=4

Chi2primary_pi >=10 >=3 >=20

Chi2primary_he <=2000 <=3000 <=1000

Ldl >=3.5 >=3 >=4

L >=3.4 >=2 >=4

Dca_he <=1 <=1.5 <=0.8

Signal 
Extraction

Default Var1 Var2

Mass 
Window

3sigma 
[2.9872,2.9961]

4sigma 
[2.9857,2.9975]

2sigma 
[2.9887,2.9946]

Will consider other sources in the future:
Tracking, MC weighting (bolt T)
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